STUDY247. I N v

©

. d \ Q)gogo v

ol +d for the given word. o O ‘

1 Choose the English WO : é
ELIECRGEEIR 5

(A) National holiday (B)  Gazetted holiday

. . D .
/«;)/ Restricted holiday (D)  Casual holiday

(E) Question not attempted

Choose the most appropriate word for the given sentencg
2 1008 :

A person who is incharge of the objects or works of art jp, , museum.
pers S

e e
v\ s
(A) Curator - (B) Calligraphist /l éj[/'\//

' 4Y
(C)  Credulous DY Cartographer /\ &, 77 e t%go
(E)  Question not attempted /()/ ;2 4) ﬁ
3 Choose the word opposite in meaning to : /’% D
: ~
DISHEVELLED P
(A) confident 4B)  jovial - g
(©) tidy , (D) untidy /I e g  ° .'j
(E)  Question not attempted , N 8 4o
4 A certain sum of money is divided betweer Ajay and Chirag in the ratio 7:6 . If half of Ajay’s sham 850
g
less than Chirag’s total share, what was the sum of money?
o it ot firr afir ey SR e TortmT 3 ey 7:6 % 3ITFuTa & fersmrfra framrm afe 1o 3 Ty o ot Ry
) . ¢§ S
TrafeRde BSOFA R, Mobe U oty (T (7
- 3 Y 0O
(A) X 4.400 (B) 4420 o ;g,
25 24320 D) 4,200 - ¥
(E) " Question not attempted / 3T v >
5 A motorcycle whee] makes 5,000 revolutions to cover a distance of 11 km. The diameter of the wheel (in
cm) is: L é &Y °
(A) 84 9<s® RSO
m (B) 100cm /"f)
©) 56cm (D) 70cm _(/’,_%/
(E) \ Question not attempted Ly
@mﬁ%mﬁmllmaﬁeﬁ Her # 5,000 TRk T B R wew @t HE: QY g
AT 843 R 4
ad @) 1005 | L
©) seq D) 70{H 3 ¥ ,’Zoq
(E)  srafeg gy
6 Letx = (] 2} ) 7 1 @ :
*CrBRdy w15 5y How many different functions are there from x in to y? el >
HAT x = !
“’naﬁty:{1,2,3}|xaymm§ﬁmﬂnw%‘z 916 ”O
(A) 8 o ¢
®) 9 Y

© 3 iy | /(Q/O

(E)  Question nog attempted / SRRILGR ey
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7 Aman starts & business with 2 40,000. After 4 mOnths Bhanu joins Aman with T 20,000. Find their profit
sharing ratio after one year. £}
 ITHT ¥ 40,000 % T Toh @ T LT 81 4 W 3 a7, o7 € 20,000 % F m%m;ﬂsm%lmaé
%mﬁaﬁ%mw&mmﬁ” {:
(4) 4:1 . j, | B) 5:1 ")
© 2:1 | B 31 &3}
(E)  Question not attempted / ST T 4‘:‘%‘
8 A full length image of a distant talT‘.Building can always be seen by using :- ) !
(A) convex mirror (B) concave mirror
(C)  aplane mirror 1y (D) both concave as well as plane fnirror
(E) Question not attempted 1y . ;ﬂrn
aﬁmﬁwﬁﬁmmwuﬁ%ﬁﬁ%ﬁ@ﬁwmmmé@mm%- ,f
3T 9T m (B) 3rdae gduT o
(C) g 90T iod (D) Fae SR EHaA WU AT )
(E) Iaia us 04 v
9 When a ray of hght travels from the® idenser to rarer medium:- ;‘
(A) it goes straight. _ (B) it comes back in the same medluﬁn
(C) it bends away from the nor%é%l. (D) it bends towards the normal. Ly
(E) Question not attempted [ Ty
* ST SERTST <Y Weh TeroT @ HTeas & et wveard # Sreft 2:- T
(A) I it foreher STt 21 m B qga@ﬁmmﬁmmaﬁ%\"
(€) T 3fies & gLHS AR m - _BFw afieiE T 3R TS T 8 i:..a
(E) Agaia s v O
10  Focal length of a concave lens is 50 cm. Its power will be :- ' ™
e 3T o i Bishd &l 50 lefl AT BT
(A) -5D P~ /(ﬁ D ifjj
(C) -2D N " (D +2D ly
(E) Question not attempted / 3TIRT 11 E‘ﬁ.
11  Choose the most appropriate English translation of the given sentence. (’:x
9 T I el W 87 0 i
(A) What time do you sleep at tught‘? (B)  When did you go to sleep at ni ﬁt‘?
(CY When did you sleep at night? (D) Do yousleep at night? |
(E) Question not attempted e A
12  Choose the most appropriate opt{px} for the reported form of the given sentence:
“Read it for yourself if you don’tbelieve what I say™, he fold me, tg
He suggested that I read 1t%ce I didn't believe what he said, ™~
(B) Hetold metoreaditas] dld}l t believe whwt he said. 0
(C) He told me to read it for mygelf'if I didn’t "t believe what he said. G\
(D) He asked me to read it himsglf if I was not ready to believe, X ;’;
(E) Question not atterppted ol

P12] -~ 3
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13  Choose the most appr opriate 0Op tion to fill in the blank:

> She
o didn’t see me wave to her. |
NS lS king (B)  has been looking
/(é,)/ was looking y
‘(C) is looking (D) looke
(E) Question not attempted |
14 “Mitigating poverty in western Rajasthan™ (MPOWER) is being implemented with the help of -
(A)  Asian Development Bank
(B) IFAD (International Fund for Agricultural Develpment)
(C) World Bank
(D) RBI
(E)  Question not attempted

T3yt TroTeT # T STE (T TE) ﬁﬁeﬁm@ﬁm&a%mm%v
A) @Tq:r%amﬁzésﬁ

(B) E.TE.T <. (TS e BT Wisheret Saetuiie)
/Q@‘S fagds

(D) IRt e

(B) rguiaws

In which year Rajasthan State Food & Civil Supplies Corporation was established?
TSR S T T TRTRE STl Frres o e fomar o o g€ offo

(A) 2011 (B) 2014

(C) 2010 ' .9)’/2012

(E) Question not attempted / GFIFI'RTT ST%T
16  Fe,0,+3CO — 2Fe +3CO0,

in the other direction.

15

In the above chemical reaction, the reducing agent is :-

mﬁﬁmaﬁmﬁm%

(A) Fe &5 co,

(C) Fe,04 | wf co

(E)  Question not attempted / IR w2 _
Which of the following is not the characteristic of a physical change?
(A)  Onremoving the cause of change, it is reversed.

(B)  Only physical properties of substances like state color, smell etc. change.
(C)  New substance is formed.

17

(D) This change is temporary.
(E)  Question not attempted
Frafafaa i & a9 witforens afvard i ferdrean et 89
(A) i # are s #) ger W, ww whvafda 6 sar 2
) e et & siifere it i 9 o e, o, Ty genfe F uftedT grar )

T garef = fmfor Brar )
(D) 9REdT srearft BT )
(B) TgaRaws

P12] 4 | [P.T.O.
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To complete a certain task 15 men take 10 days working 12 hours a day- How many hours a day should 10

men work to complete the same task in 20 days?

mm@wmegwﬁqmza%mmlmﬁﬁloﬁﬁmmaﬁwmﬁ@m%ﬁ@m
¥ 1 10 HfRFT Y uer fom 3 fere w9 T wifRy

(A) 10 (B) 11

< 8 ﬂ 9

(E) Question not attempted / ﬂﬁ'ﬁﬁ I
From the top of a 216 m high cliff, the angle of depression of the top and bott

respectively. Find the height of the tower.

216w, Sl = % v & v ST 3 T 7R et o rem shior s 30°
(A) 142m (1) _(By 144m(fh)
(C) 135m (1) . © 140m(f)
(E) Question not attempted / 3T F21

How many triangles are there in the given figure?

om of a tower are 30° and 60°

ST 60° E1 T T TS T H

=y 2 77 orreRfa B foraa Brge &2
Aa) 12 ’ B 15
© 10 )y 11

(E)  Question not attempted / Blg'r‘iﬁﬁ 949

The value of cot 15° - cot 20° - cot 45° - cot 70° - cot 75°1is:
cot 15° - cot 20° - cot 45° - cot 70° - cot 75° EARICRE

@) 2 Py
© o . D) 1
(E) Question not attempted / STt 9

Frffaa i Frela wraf o= -

(A) T+ 37H B) T+ arfs

©) T+ 37efeh AP) 3 + anefen

(E) &A@y '

Frmferfiae g + 3R o afer -

W _wh T ®)

Vol i D) gf&

(E) #Agai@ya

Which Indian athletes is known as the ‘Queen of Indian Track and Field® or ‘Golden Girl*?
(A) Krishna Punia - (B) P.T. Usha .
(C) Sunita Rani (D)  Kamaljeet Sindhy

(E) Question not attempted

frfafaa § & frg ad vadie &1 sy 3o ot fiee i e o7« .

(A) FomgfE — _® hdwy ST ek 35 & e e
(C) gAarTH (D) FueTshg gy

(B) orEf@wH ®

P12 ] 5 ‘
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‘NAMASTE’ scheme, is related to which one of the following group of workers?
(A)  Agriculture workers (B)  Sanitation workers

(C) Construction workers (D)
(E) Question not attempted

ELIS Y ﬁwﬁw%ﬁaﬂmirﬁﬁqmﬁq‘rﬁwﬁaév

A FwhE AB) T i
© Feborahis . (D) e Fififn
E) wgafams

What was the theme of tWorld Sight Day, 20239
(A) Donate your eyes

(C) Colour blindnessé\;;} ‘

(E)  Question not attéﬁpted

‘o gf¥ fam, 2023 ﬁeﬁq(ﬁmr)meﬁv

A) IR @zvﬁr )
B FE mﬁﬁ%wm
(©) i (R SAEEHe)

D) it (Aree sz

(E) Irgafawy

A valid formula in Excgi begms with -
Qa@aﬁm%&gmﬁmﬁqﬁm@m%? .
© + m D) =

(A) Placeholders
(©)  Design plates {”;
(E)  Question not atté?hpted

T e e ”mﬁmﬁﬁaﬁaeﬁrmﬁmmm{%m%

¢ redeed = - ® =qfiew
© fomwem . ®) %mﬁzq

(B) srgafaas E t
Which of the following is NOT an mput device?

(A) Mouse (B)  Projector

(C) Touch Screen ii; (D)  Scanner

(E)  Question not attempted

ﬁnﬁ«rﬁaaﬁﬁmmngz%amm%? .
) B M

(A) AN 4 .

() - TT £y | (D) W

P12] (V) 6

Health workers

(B) Love'your eyes at work
(D) Night-blindness

Wﬁr@m!ﬁmémza%)_ |

.
a\m‘ e
3

R -

J

o) oy wear g
3

o -
- e

LS s
12:

21

-0

£33

0

s
L2

o

d

)

"f"

5“‘3
(N

-

i

ing for the slldes In power point presentat1on are known as -
T (B) Blueprmts
%k & |

(D) Templates

[P.T.O.
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Arrange the following words as in dictionary and then choose the correct sequence from the given alternatives-

ﬁﬁmﬁﬁwﬁﬁ%mﬁﬂﬁmmmﬁgwwmwﬁl

L . MAQI_EI‘;A . MABUSE -
M. MABLE IV. MABEPEARL
-—-——-f

ITChoose the most appropriate answer from the options given below:
1 R e gt i & watfires Sugw ST T HfT:

(B) IOLILIL v
(D) ILILIL v

A LIV, LI
(©) LILILIV
(E) Question not attempted / Eﬁﬁﬁﬁ' e
Five students participated in a scholarship examination. Su

than Sunita but more than Suman. Mansi’s score is betwee

re than Preeti. Komal scored less

man scored mo
red least in the

n Preeti and Suman. Who sco

examination?
(A) Preeti o : (B) Komal
(C) Suman (D) Mansi

(E) Question not attempted _ )
e T 3 T ol i fe o gﬁ?aﬁsﬁ?ﬁ@raﬁmﬁmﬁ@aﬁnﬁaﬁgﬂmﬁwmmﬁﬁﬁﬂa
gm%aq‘aﬁ@aﬁ:ﬁr%lWaﬁﬁ@wmmaﬁ#mﬁmﬁﬁ,mﬁﬂmm feret e

gV |
PR i B) @
© ™ ©) e
(E) FErawH
around a round table conference facing the centre.

Eight persons L, M, N,P,Q,R,S and T are sitting
L R sits between L and S

IL S, who is the neighbour of Q, sits third to the i
I1I. Q sits second to the right of T.

V. M sits third to the left of R

ghtof T

Then who is sitting at immediate @ht of M?
A ARE LM, NP, Q, Rﬁ@T@ﬁWﬁa%mﬁaﬂmﬁmﬁ%sﬁr 3R @ FH S T

LR LU S HFATT A

1. s,Qa:mﬁTa;a%:ﬁwmﬁatqtéaﬁ
1L Q,T 3 arferdt 70 qE At AT T

IV. M, R 3 SIeff e it e e @]

M 3 e i i T SRSt 87

(A) L B) P
© R BT Q
(E) Question not attempted / IrTafE 99

What was the ancient name of Jaisalmer?

(A) Mand (B) Dhad
(C) Maru (D) Maran
(E) Question not attempted

STt el ST AT T A1

LAy~ TS - (B W
© (D) WRA
() Iuiawd : !

P12 ] 7
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y S prose and poetry the works which throw light on the achievements ang incide
34  Inthe genre | and dynasty are called __ (Choose the most appropriate optiop, gy

of a particular indivngﬁ e fron
below:) i . W)
(A) Prakas 7 (B)  Vigat Ty
(C) Veli e} - (D) Vachnika [
(E)  Question not atiempted "y

e < et 2 T S R SR e i oy aerfoer e et o o .
T (e 2 o 3 e et

fin &Y
(A) Tl . .(B} ‘ J
(C) é-Gﬁ 1™ }@ ;
(E) ¥uiays .
is associ ith whicl i : .
35  Geendar dance 1S aSSgclated V“”t which region of Rajasthan? (Choose the most Appropriate option from
below:) 3 iy
(A)  Marwar ) (B) = Shekhawati {™w
(C)  Barmer N (D) Mewar "
(E)  Question not attempted : {NH
Tieg T &1 6y ToRUH & fore S ¥ 22 (R 5 & T sweres frepey i) ™
(A) wRAE 3 >
E) sefawn M ’
36 £y, .
'(I:}lioc;i;t?e most appropriate option to complete the sentence; in
€ H b L . Py
® b ocr)m of DO lggfr 1n administrative or official communication is i
0 Open - (B) D : ™
i Oy are open .
(C) Demi official i M Di pff . M
(E)  Question not atie;npted _ irect official 51
37 Fill in the bl i
e Succededaflklc‘:ft‘loomng the most appropriate option .{\j
In .
_ 6 hisphysical disabilities. i
(A) inthe event of o Py ‘
(€)  incase of e (B¢)‘ 1n spite of
(E) " Question not a&gﬁqpted ) s “:;
38 Ty
Choose the mggy apprkt)priat e word ; _ ) NG
For o £ ord to complete the sentence given. | Y
all the comnyigfe 54
with Jiftee members agree one another, - '
© 1o ! (B) for i
(E) Question not attt:x;] (D) n i‘:\l
39  Who among the follow; pled -l
. ing w h :
below:) & Was the follower of Nirgun worship? (Choose the most appropriate option from
(A) Dady Dayal b
(C) Ram Charanj; /) (B) Ratan Singh L
(E)  Question poy " m (D) Meera Bai n
frafafiaa i & 2y h;’;;‘:m P
W T Sand gy (e @ e swgen foreew ) :::,.,:
© TWEEHH B) ' fiiw it
(B) AT (D) it s o

P12 ]: | . i

[ P.T.O.
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40  Match List-I with List-II
LisE—_:I}_(Fair)

a. Beneshwar L.
b.  Kaila‘Devi 1L
c.  JeenMata 1L
d. Di ggf Kalyanji V.
Hc:"ﬁ -1 ﬁgjﬁ -Iluﬁgﬂ%ﬁﬁm :

a. UK .
b.  aredl — 7 1
d. feuft seeamor <ft ™

List-1T (Place)
Karauli

Tonk
Dungarpur
Sikar

gt -11 (FT)
et
ik

HiFT

Choose the most appropriate answer from the options given below:

a-TILb-Le-1IV,d-1I (B)
p— T —
(C) a-I,b-ILic-Ld-1V (D)

(E) Question not attempted / aqg?rﬁ?f gq
41  According to the census 2011, which of the following dis

a-1v,b-1lc¢

g
g
[
"y
s

-
f

S e .
e dhma whwr i

i f

A
£¥ 3

_fd-1

a-Lb-II,c- Indi- 13%

(A) Bikaner ! (B) Jaipur
(C) Jalore iij (D) Udaipur ;4?’
(E) Question E;:Qg attempted ' ,}E
2011@m%w,m%%ﬁﬁ%nw%mﬁﬁﬁmmaw%§m%?
(A) R ;;:i (B) VAL h
@ wER (D) SR f’"i
(E) oTara g4 s

42  Given below are two statements:
Statement (I):'BI:a?( soil is found in
Statement (1I): Bgack soil contains en
In light of the abbVe statements,

(A) Statementﬁj is true but Statement (II) is false.
(B) Statementﬁé is false but Statement (II) is true.
(C) Both Statement () and Statement (II) are true.

(D) Both Statement (I) and Statement (1) are false.
(E) Question not attempted

i 3y apy feg T :

Kota, Bundi, Baran and Jhalawar districté of Rajasthan.
ough quantity of Nitrogen but lacks in ?ﬁ; cium.

&y
-
(aY

=

T3

FUT-1: et i o 3 e, S, e it s forei o urg sl & Lo

¥

o - 11 : Wﬁﬁmﬁmwﬁaﬁ%mwaﬁw

mﬁﬁmﬁ%a@%ﬁﬁmﬁ%ﬁﬁwﬁﬁﬁmaﬂgﬁmﬁ;

(B) IR s o

(D) Wlaﬁma\q%gw%l I &
v '

(A) o | TRt g e 1 AE 2 |
@y e 1 SRR Ee
) st -

P12] . 9

h

' ﬁ'“«:é . .
tricts has lowest literacy rate in Rajasthan ?

choose the most appropriate answer from the“pptions given below

[ P.T.O.


https://t.me/rsgonline

STUDY247. 1 N

60 is an example of which of the following?
e EgHpT (B)  First Generation Computer

(D)  Fourth Generation Computer

43 IBMsyst !
i rat1of

A)  Third Genera
© d Generation Computer

(C) Secon
(E) Question not attempted

mwﬁ/seoﬁﬁﬁﬁmmév |

y B) G S FHEE
(A) ﬂémﬁa@ |
@ JavE T FFRL (D) Frek S FFE
(E) rguRa ¥4

Which of the following unit of the processor monitors and gives proper instructions to all parts of the

44
computer?
(A) Input unit (B)  Arithmetic and logic unit
(C) Memory unit (D) Control unit
(E) Question not attempted
SR A freffiad § & - 3918 Fraet & avit et i Frmeh st € o 3= s fRa 2 22
(A) gquqﬁz / (B) Afemtwwd ﬁlﬁl’%‘iﬁ?
© IR Dy HE g
(E) Srgaiawy
45 Which of the following is correct in regards to RAM?
(A) volatile, permanent (B) non-volatile, permanent
(C)  non-volatile, temporary (D) volatile, temporary
(E)  Question not attempted ' % - |
W ARt Rl TR Ve
o aeree, v L 6 e e
(©) e, Sy | R e, T
®) sEfays '
46  Chitrashala Art Gallery is situated in which of the following place?
(A) Bundi (B) Bikaner
(©)  Jaipur (D) Kota
(E)  Question not attempted
eIt e feafeniee - ey e oo 27
(&) (B) iR
©) Iz (D) @
(E) uqaf@uy
47 X};ICh;:a‘:e followsng is the largest tributary of Indus river?
© Revi (B) Satlyj

| (D) Chenab
(E)  Question not attempted

et 30 R T8 6t et e o 20

© i
(E) orqaRaya

H ]’ : | [ P.T.O.
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48
(A)  Shivalik . (B) Vindhya é:
© Satpura ; (D)l Ajanta
(E) QUGSQOQ not attempted r
P 8 o e st fRmerd T s & g 27
Lof @) fre &N
©) W] (@) omT_ 7
(E) Iguia ¢ A
49  Which of the followmg is a second generation computer? g P
ﬁmﬂ%{f@aﬁ%ﬁ?wmﬁ/éwgaﬁmww%v
(A) IBM 7030 . (B) IBM Notebook
(©) IBM 2’%‘41 | | ' (Dy” ENIAC
(E) Quesgon not attempted / 3T T j
50  Which of the-following became the first state to adopt a road safety action plan?
- (A) Gujarat (B) Madhya Pradesh
© Maharashtra (D) Rajasthan E,
(E) Questxon not attempted E 3
ﬁmﬁiﬁaﬁﬁ"@aﬁqwmmmmﬁmmmmmw; .
A) gslrm“gi | ® TERT o
© TS oy T
(E) IRy €:
51 Who presenf%”é Rajasthan state budget of 2024-257 :
(A) Bhajanlal Sharma (B) Diya Kumari
© Jogarang Patel (D) Kirodilal Meeng{?
(E) Question not attempted fx }
ad 2024-25 o T o S foRe et forT 2 t
(A) mr’%mf r_(Ba/ Romgmt
© sf'rrrrtrg.géa (D) ﬁsﬁé'manﬁvng e
(B) STaiasH 1 {“\:
52 © Who is the E:heief architect of the constructlon of Ayodhya Ram Mandir’ (Choose the most appropriate
option from below: )
(A) Chang_;%kant Sompura (B) Arun Yogiraj {7
(C) Ram Siifar (D) Jagmohan £
(E) Quesfion not attempted -
v o g 3 Fr 3 g gt cﬁqﬁﬁmmﬁm;ﬁ 9
(a) ST EHIT @B) AT v
© W s
(E) agﬂﬁaw X
Q) ~ S | (PT0.

STUDY247. 1 N

Which of the following mountain ranges is associated with Himalayan Mountain range?
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hief Election Commissioner of India during 2024 Lok Sabha Election?
53  Who was the Chuie

il Arora
Naveen Chawla (B) Suni
. Rajiv Kumar ‘ (D) Gyanesh Kumar
© ajiv

ion not attempted
(E) Question no
2024 Tieh T A1 o S, T o T TS ST i 97

(B) oHfter T
(A) T =mE S
- (D)  FHTFAR
(B) Tgafea s . ot =
54  Which civilization is famous by the name Dhulkot or Tamravati Nagari? (Choose the most appropriate optigp
from below:)
(A) Chandravati (B) Indus
(C) Aazhad (D) Balathal
(E)  Question not attempted ‘
aﬁwﬁma@zmmm%mﬁmé? (e 2 2 et Sges v <)
(A) ®) fiy
3ITES (D) ST
(E) rgui@yus .
5SS  Select the most incorrect statement from below about Kalibangan civilization.
(A) Kalibangan was a planned city, the sunbaked bricks were used to build houses.
(B) Noevidence of ploughed field has been found in Kalibangan.
(€)  The ancient Drishadvati and Sarasvati river valley (Present day Ghaggar riverine area) cradled the
civilization of Kalibangan. ‘
(D)  This civilization is situated in Hanumangarh district of Rajasthan.
(E)  Question not attempted
Wm%ﬁﬁﬁmmwmwﬁl ,
(A) el o giehfing e o, aﬁ%«aﬁﬁmaﬁmwgﬁw%?ﬂmﬁw%mw o
4B S e 0 st o P
(©) 3T el S wrceareht et e ooy erore ot éﬁ)ﬁrwﬂ%maﬁmﬁm
(D) 318 Wearatl Treermt & s Rt 3 feera 31 . |
(B) Syafmuy
56 ST vg ata T a2
A) = (B) wng
& T | (D) M
(E)  afauy '
57 =YW 315y - sy & fore s et @y
W e - B) ¥ . o
©) e - (D) 7% - fareep
(B) SImi@usy
58 ‘THI T T WA T 0 oy e 2
(A) FsmErEs B SPrerrree
(C) wHa=H (D) Waa; '
(E) GW B

P12] | | 5

[ P.T.O-
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__ wasthe first state to establish Panchayati Raj.
(A) Uttar Pradesh

(B) Punjab

(C©) Gujarat

(D) Rajasthan

(E)  Question not attempted

YHTRIT Tt TR hA STl 98T T 912
(A) SERY |
(B) UeE
(C) T
4P TSI
(E) rafaws

Which of the following directive principles in Indian Constitution requires the state to organize village
panchayats and endow them with necessary powers to enable them to function as units of Self Government.?
(A) Article 40

(B) Article 42

(C) Article 38

(D) Article 39

(E)  Question not attempted

i ¥ wfrar o fpefRaa 7 & frg Rdure Rigia & STTaR TST 1 T 9= &6l 618 i 311 38 Teme
oS ¥ 59 & 0 1 g S 3 A st it Yem FwEr R

&y TSR 40
(B) ITT=T 42
(C) 3TT=% 38
(D) TR 39
(E) raRa s
A tool used for operating industrial robots, playing computer games and training flight simulators is called:
(A) ' Light pen (B) Mouse
(C) Keyboard . (D) Joystick

(E) Question not attempted

@mﬁmﬁam%m,wm%@ﬁ@mﬁmmmﬁ% s
< SUh{UT o &

T T B - e
(A) W (B) =W

© = | By S

(B) oaf@ys

[ P.T.O.
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h referencing, the cell reference does not change while copying the formula?
In which refer ’

R‘ela tive referencing (B)  Mixed referencing
© Oéli referencing (D) Absot}ﬁ referencing
(E) ducsuon not attempted g
%qﬁqftﬁmﬁ‘ T st e qH ﬁaﬁqﬁmmw o
o fea Rt ® ﬁmw

©) &Rt (D) Wﬁ?ﬁc’;

(B) sqafass A

Which of the following is a smallest data unit of g computer?

(A) Byt (B) Niblet!?

‘X . Ly

© KB ® GB ..

(E)  Quséstion not attempted %‘“a‘}
ﬁ%ﬁﬁmwﬁmmqﬁz% : a,?:

N aTsZ(Byte) By Frrst [Nible)

© ¥hxs) (D) S (GB)

(E) aﬁﬁaw

Khetri Bansyal Conservation reserve is situated in which of the fo%lowing place of Rajasthan?
(A) Bhilwara .

(B)  Ajmei{?
© Jliu;mjhunu D) Kotaﬁ"

(E) Sjgjri’raxr%r

Which ig'the longest river of Rajasthan? L5
(A) Parvatl

(B) Chanibal
©) Ma?m (D) Kali %}:ﬁ;dh
(E) Quéstlon not attempted (8)
mm“ﬁaaﬁwﬂaﬁq ¥t 27 v
(A) i (B) Wﬁf
(C) = (D) el fiy
(BE) sguiauy
Choose ::gr}rvord nearest in meaning to the underlined word, L0

The coqw;t s ingenuoysg explanation brought tears in everyone'%gre,
(A) n’f\“?e

(B)  clevefny
&C) utsg{pcere , % surct('z}

(E) Qu:;stion not attempte( N

4 ' :
121 | 14 [ P.T.O
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Choose the word most similar in meaning to :

PROSCRIBE
(A)
©)
(E)

Appease
Prohibit

Question not attempted

Which of the following is a fat-soluble vitamin?

Vitamin C
Vitamin A

A)
©)
(E) Question not attempted

51 % & = forerfem o & geelicr 82
}p{ﬁaﬁqc
(O faafi A
(E) rguaiayd

TUPAC name for the following compound is :

2-Methyl-1-propene
(C) 1-Butene
(E) Question not attempted

3 few Tw Afirs 1 TUPAC T4 &:

(A)

CcH;
(A) 2-Afet (Methyl) -1 - Y (Propene)
<o 1- W@? (Butene)
(B) 3uia s

The most stable ‘Fullerene’ is -
AT Ceo

© Cs
(E) Question not attempted / Frara g

OLB‘{ Prolong

Permit

(D)

Vitamin B,

B
D)

Vitamin B

ferf B,
faerfi B

(B)
D)

2-Penfene
2- Propyl-1-methane

(B)
(D)

/a)/ 2 - Y= (Pentene)

(D) 2- MuTE (Propyl) -1 - A& (Methane)

(B)
D)

Cro
Cao

Which allotrope of carbon is a good conductor of electricity?

(A) Fullerene
(C) Graphite
(E) Question not attempted

T T N T ST T e 27
(A) FRA

L IR

(E) SARATH

P12 ]

15

D)

Coke
Diamond

(B)

(B) mmm)
(D) TN (Srmvg)

[P.T.O.
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72 Wt i icultural development of Rajasthan?
i i tacle in agricultur
hat is the main obs

(A) Limited availability of fertilizers (B) lrrcgular‘l;ll&}iﬂnfl unccr.tz.li.nty of rains
(C) =~Lacl\ of land reforms (D) Lack Ofl!:lflgallon facilities
Qucqnon not attempted 4
WemﬁmﬁmE@WWﬁ e
wﬁwmw (D) Fazrrég%rmaﬁaar 3
(E) v ar—mﬁ'crw

73 In wlnch of the following year demonetisation of currency was declared by Indian Government?
mmmﬁmﬁﬁﬁwaﬁwéﬁm?ﬁmaﬁmﬁ 9ﬂ‘7‘
A ! 2018 B) 2019 ,

_e gom : | (D) 2017
(E) Question not attempted / ﬂqﬁ'ﬁﬁ e i

74 Where Is the Indian Institute of Handloom Technology located in Raj asthan‘7
(A) ¢ Jodhpur B) Bharatpu; i
(©)  Jaipur (D) Uda1pur i£3
(E) {Question not attempted 1y
Wﬁ‘wﬁqm (RSeTH) Wit Treerm svet o fRorq 29 i,,:

@) g ®) R o
© :w_; N s :*::%
(E) o3rafawy e
75 In an’éf‘ection between two candidates 75% of the voters cast their votes out of which 4% of the votes were
declared invalid. A candidate got 9,261 votes which were 75% of the,total valid votes.
Find ’.the total number of voters enrolled in that election. ‘;
zﬁmr’r‘sﬁ%ﬁmmﬁ 75% RIS = St e fe, et & a0 W ST UT T O A Y 9,261
T BT et et 7 o 75 3 wm%wmmﬁﬁmmwml
(A) I6 800 (B) 16,500 V‘mj
AG?/ 7,150 (D) 17,000
Questxon not attempted / e u )

76 A certain sum of money amounts to ¥ 2,286 in 3 years and ¥ 2 448 4 years at simple interest.
What i3 the rate of j Interest per annum? E::l
“W%Wﬁﬂﬁ@ﬁfmnﬁr 3 auT # ¥ 2,286 AT 4H‘ﬁﬁ3\2ﬂ8;ﬁﬁﬁﬁﬁl SIS <1 a1fifen o &2
(A) 710% S

(B) 1% wzz
{
(©) “_f}% ;p)/’uu' '

i
(E) Quesllon not attempted / stafe wu

P12 ] 16 [ P.T.O.
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77 Which of the following Committee suggested the incorporation of eight fundamental duties in the Constitution

of India. To!
|
(A)  Dutta Committee (B) Gokhale Committee
(C) Verma Commlttee (D) Swaran Singh Committee

(E) Question notattempted C

ﬁnﬁﬁ%ﬁﬁﬁ%mﬁﬁaaﬁwﬁmﬁmaﬁaﬁaﬁmﬁamﬁmmﬁmw

(A) =arafafq | B) TEeaEfd
© e afify (D)t fifg wfrfdr o
(E) aq?rﬁ—crsrar.ﬁ /)/

78  Who was the Chléf draftsman of the Indian Constitution in the Constltuent Assembly? (Choose the most
appropriate 0pt1on from below:)
(4) S.N. M“khe’ﬂee (B) Prem Behari Natfiin
(C) SirB.N. Rao (D) H.V.R. Iyenga"it;§

-(

(E) Question not attempted

Hﬁm?wﬁmﬁaﬁw%n@maﬁqﬁﬂ (ﬁmﬁr@ﬁﬁﬁﬁ%m‘ﬁ?ﬁﬁ?ﬁﬂaﬁ)

o Gu@sﬁ ’ B) I fEr TRET
(C) WHATTE (D) UH AR AR
(E) mﬁ&emw ST e
79  Match List-I with LlSt 1| :gf
Llst-I (nght) List-II (Related Eo)
a. nght to Equality L Protection of hfegand personal liberty
R1ght to Freedom II.  Prohibition of lé\uman trafficking and
ol forced labour .4 ‘
Cultural and educational rights IMI.  Abolition of titles except military and academics
d. Rightiagainst exploitation IV. Rightof minorgt;ies to establish and administer
g*g | educational ins;titytions
el -1 gt 11 g gt it e
FE-1 (T -1l i )
o  WHAT S IARFT L s @Tmﬁammgﬁ T
T T ST JI A qEw aﬂvw S T RSy

aepti S daPE RET L 8 R S ) srea s

c.
u 7 \/ ERIER AT ST
d. W’m m ’ . qu a’ﬁ- %‘ﬁm a:)ﬁ 3ﬁ.{
L0 3R Id
i WW@’W aﬁlﬁ;]’{
Choose the most appjropnate answer from the optlons given below: g‘
ﬁ%ﬁqmﬁmﬁﬁﬁwﬁ%mmwwaﬁﬁq fﬁ:
(A) a-1V,b- IIIc II,d-1 a-m’b'l’c*ﬂ‘!,d-n
(©) a-Lb-II, c .III d-1v (D) a-u’b'[V’CCﬁd,HI
(E) Question not attempted / St oo 4

P12] . 17

[ P.T.O.
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: and answer the questiOHS_that follow: (Q. No. 80 to 84)

Read the given pf:lssage it is playing chess online, ordering fo0q op 5 delivery platform, interacting with bots for
New Delht:Whet.her triaging patients or creating deep fakes, Artificial intelligence s now -
reponses'to (11:1 fsrrlﬁts ;urpﬁsing then that universities ang research inme e
zzdjzyh;- the application of Al iI.l m.ultifzfrious d.iscipl-ines, bl.lt also on the i?.npact the ;technolo 2y m
lives. At the Yardi School of Artificial intelligence in Indjap Institute of Te
conducted on building Al algorithms that cafl be_used for different appli
patients can talk to an agent about patient history, machines that can i

scans and systems to predict cyclones early. The range of studies is exte
A lot of the studies at Yardi School are also assessing the existi

nterpret ultrasound images and CT
nsive,

ng Al algorithms to plug gaps and soci]
-D, said, “While these days, the hype is arounq

Chakraborty talked about its use in the judicial domain,

“People are using a sort of predictive tool to determine
how likely a person is to commit a crime if released

on bail,” he pointed out, “A study showed that it was

highly biased against African Americans with even those who hadn’t ever committed a crime being classified
as high risk.” Chakraborty said the studies at Yardj School “aim to
create algorithms that are fair across diversities ethnic, religious, linguistic or gender”. “We mean to rectify
anything that directly impacts any particular

80  Scientists are aEEing 1o create an unbiased

( To study about potential def':lmers

(B) Tostarta dialogue system for future patients

(©)  To study the impact of technology on human liver
(D)

To bridge the £aps and remove social prejudices

group,”
algorithm-

(E) " Question not attempted :
81  Asetofruleg that must be followed when solving a particular problem is _
(A)  Chat GPT BT Algorithm
(©) Artificial intelligence (D) Multifarious disciplines
: (E) " Question not attempted
82  Match List-T with List-1T
List-1 (Words) List-I1 (Meanings)
8. Entrencheq ' L. ability of show futyre happenings
b Marginaliseq I established strongly
€. Predictive IL  People that share the same cultural tradjtions
d.  Ethnic ‘ ‘ IV. with not much say in important matters,
Choose the most “PPropriate answer from the options given below:
(A) a-TLb-T,c.1v 4, ' B) a-ILb-1v,¢c-1,d-1
M/:-Lb-lll,c-ll,d.w e (D) a-1V,b-1lc-1,d-1
(E)  Question not attempteq

P12 ] . | 18
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Match List-I with List-II

List-I (Fields) List-1I (Application 0 of Al

& Medicine L Predicting natura( catastrophies
b Banking I Identifying Potential criminals
& Crininology III.  Interpreting ultrasound images
d. Mefédrology IV. Disbursing loans;

Choose the most'ap appropriate answer from the options given below: 4

(A) a-ILb-T¢-IId-1IV (B) aIbIIcIVdIH

(©r a-MLb-TV,c-1,d-1 D) a-1V,b-TLc=Td-1I

(E) Question not attempted

Identify the drawl?ack of using Al extensively according to the passage :- : :

(A) Natural caizsastrophlcs can be averted due to timely alerts. v

(B) Takes carg. .of loneliness by providing online companions. 73

(C) - Abot w11btake down the history of patient. 75

(J?f/ Biasness agamst certain sections of people due to lack of mformatlor} i

(E) Question not attempted £

T o3 IR B- _ gt

(A) 3T v ®) fa

(C) by

(B) Faiaws

foperferfiaa i aﬁf‘%w’r@rﬁﬁ -
o 1 b, o
C. aefa%; d_'_—_ W

ﬁ'a'{?qﬁﬁ‘ gaﬁaaqmvs EREEIELE -
'—ﬁ%ﬁ?ﬂ"’{ ﬁa’ Sl ,QBT/ Had a, d3ﬁ'{e* b

Faa b, ¢ 5 d i
E‘g et a, bN D) Faeb, coe
(E) agaﬁ?fsr%r
Freferfie 8 g o Pt e & . e T
Eg)), Eﬁm Ty (D) T ;’§
Te
STTafd $H., v
® T %( v s o o T
(B) a -
qeTs 3 gl
@ ] i 4By WIR £
© S W§ N
FTaid T4 . . g
fs)hok wjalks 4nrtawards north. He turns to his right and covers a distance of 12m and after that he turns to
his left and covers a distance of 12m. The shortest distance l:)etween starting point and end point is:
(B) 20m o
(A) 25m ; 7
© 23m Te) (D) 28m ‘”

(E) Question ab? attempted o
am“m et =T 81 §: a8 qrfeet 3 g 12 WW%WMW |
FW %aﬁwmmmﬁmﬁmﬁﬁﬁﬁmﬁmﬁﬁwﬁqaﬁm 718 ST it e

3 et (B) Hex ] .o :
) 2§ % | - )Pﬂ/zzg:ﬁa' O [
C€) 2 g\g 2 =

ECLILGR l {
® oHarE i &
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aqbc
qqbc

gbca
q‘b 91

92

93
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. . ill complete the given series?
ich of the given option, WITi €€
gggﬁiﬁﬁﬁﬁﬁﬁﬁ#a"mﬁ ST 1 G HTM?
A 2?( bsi hed b
aa a q_ bgaad b ql 9

;B), aaaca
(A) abaac

—e——_——

(C) aabca (D) aacba
a
®) alcslion not attempted / Cﬂﬁﬂﬁﬁ g

Which part of ashvagandha plant is mainly used to make medicines?
() dowers (B)  pollen grains

(C) Leaves (D) roots
(E)  Question not attempted

mﬁé%hwﬁﬁéﬁaﬂﬁ%%&ﬂ@ﬁmﬁmam%

(A) (B)  wmT - oy

) ufwt A oy s

(E) orgaRaws _

Which of the following is not an application of Blood group inheritance? (Choose the most appropriate
option)

(A)  Treatment of hereditary disorders, like hemophilia.
(B)  Treatment of infection of HIV-1 and HIV-2.
(C)  Solution of parental disputes.

(D)  Treatment of neonatal blood hemolysis.
(E)  Question not attempted '

ﬁmﬁmﬁﬁaﬁwﬁn-aﬁéﬂnﬁma@mﬁ%-(ﬂaﬁﬁﬁﬁmwmﬁ)
INEREEN

EREING) PRISeR B)  HIV-l 3 HIV-2 Fahmr 57 sqepe
& S At g (D) 7o st feiferfing =51 syee
(B) i@y

their community are referred to as - -
(B) Priseres

(D)  Secondary succession

(A)  Lithoseres
©) Primary Succession
(E)  Question not attempted

éa@msﬁm@maﬁﬁm&mﬁéaﬁmﬁﬁaﬁnﬁmaﬁ@m%mmﬁhﬁﬁ-
(A)  AaFs ‘ (B) Vs

& e s (D) Titreres srspmmor

(E) SIyafauy

In a pedigree analysis jt

is observed that only male children are
because it ig a/an:

affected with the Haemophilia disease

(A)  Autosom] dominant disor der (B)  Sex linked dominant disorder
(C)  Autosoma) Tecessive disorder (D) Sexlinked FeResstveidisawer
(E)  Question noy attempted
Wﬁ»mﬁa%@nmmmmmﬁ“ﬁ%mim“@
) A D ey 407" T e s e &

(©) ST ST e ) T s fame &

[ P.T.O.
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Down’s syndrome is caused due to trisomy of -
(A) Chromosome 01

(C) Chromosome 11
(E)  Question not attempted

2 fagm O $ SR T Y
(A) TOEAOl (B) TV 14
(C) WAL 21
(E) rgaf@ws s W
Which of the following is not a fibre yielding plant?
(A) Khejri

(C) Sunhemp

(B) Chromosome 14
(D) Chromosome 21

(B) Coconut

(D) Cotton
(E)  Question not attempted
ﬁm%?@aﬁ%aﬁqmwmmﬁ%"
by TS (B) i
(C) TS (8 BF) . (D),
() Adiea =

Which of the following statement is incorrect?

(A) During lightning, the low temperatures and pressures created in air, convert nitrogen into oxides of
nitrogen.

(B) Nitrogen oxides dissolves in water to give nitric and nitrous acids and fall on land with rain.

(C) Nitrogen gas makes up 78% of Earth’s atmosphere.

(D) Only few form of bacteria are able to convert the inert nitrogen into nitrates and nitrites.

(E) Question not attempted

FrraferRaa o & I o1 e T 72

Lpor~ Tarrelt =mer / Ry 3 SR, g 7 Ffffe 99 aret o AT S 9R AT g B TR ¥ itaarest §
gfEfda it ad &

(B) mﬁaqmmﬁwa@maﬂrwmw%mw%mﬁ“m%

(C) T e geRh ¥ ST T 78% AT S &1

(D) W%mwmﬁmmﬁ@mwﬁm Wwﬁ%

(E) aﬂaﬁaw '

What is the rank of Rajasthan in m11k production in India during 2022-237

(A) Third (B) Fourth

(C) Second (D) First

(E) Question not attempted

T 2022-23 % AR T I H TSTEAT h S & AT 87

() (B) ftur
@ T (D) gEwT
() Sgaiayd
In a certain code language if PHYSICS is coded as KSBHRXH, then h
same language? 1 how BIOLoOGy can be coded i the
af PHYSICS =1 foeft ifeq v # KSBHRXH e e ST & 30 g ey N
S \ - RIOLOGY = 3 fireay
(A) ;&MOM B (B) YRLOLSB Le
(©) YSLOMTC | YRLOLTH
(E)  Question not attempted / 3TTARE sy /W 8
e BI 0L 0 (hy
ety Z ' é ‘ [PT.0
Ks o hBXH YRLo LT B '
-
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100 P +Q meansP is the brother Off:Q ' q [% _r.
—~ px Q‘ineans P is the mother of Q .
P- Q means P is the son of Q - @ — (/
P+ Q means P is the husband of Q ‘ h 2
i Whlch of the following indicates that “A is the nephew of U
P+QWW%%P Qw‘m%% VPK
prmW%%P QAT 8 ' 4 o
p_ Qm?n?m‘%ﬁﬁl’ QH# TR A——
P=Q a2 fF P, Q RALE A‘" NI
ﬁmﬁ%ﬁﬁ&ﬁ#%ﬁéﬂ%%A U T *efter I,
A= ~-KxH=+U - (B) A+N+KxH=U M
'& (c) A+N><K HVU ((—B)/: NXKXH‘*U‘
ﬁh—’ (E) Questlon not : attempted / mﬁ?rsm e |\T %
( 101 Aﬁer the death of Rana Sanga, who became the ruler of Meivaﬁ (Choose the ,MOst apprppriate option from
- below ) : 1= gy
== H ——(A) ~Rana Uday Singh (B)’ Rar'fg Rn%r Smg K
(C) Rana Vikramaditya (D) RanaRatan Slngh : !
- B _Question not attempted i
mmﬁw%wmﬁmmmﬁqm(ﬁwﬁﬁwaﬁmﬁmgﬁ:) l_
A" T fig ®) wremfEr 2 A F
ALY T e © wnwEfE K il
(E) . 31qaf war | M h—N—K
102 Keoladeo Ghana National Park is located in which place? i«*«a 1
(A) ¢ Dholpur S "(B) Sawai Madhopur;j g(r -y
(©) =Bundi (D) - Bharatpur & 4
(E)  Question not attempted : A —4J™
(A) L7 dhrere (B)  Fa e ]
ORE @R !
®)F mafmsm By
103 At the time of freedom how many Riyasats were there in today’s Rajasthai?: (Choose the most appropriate
optlon from below: J) (83
W%mm%mﬁmmeﬁ? cﬁwﬁwﬁmﬁm )
KT 19 B) 21 &
©) 1s D) 17 i
(E) Question not attempte( / ayq-aﬁﬁger o
104

Whoamong the followmg won the silver medal at the 6t Asjan Trampoline Gymnastics Championship?
(A) \{ Brishti Khandaga|e

(B) Dipa Karmakar Ty
(C)g “Rucha Divekar

(D) Kalpana Debnath
(E)f - Questlon not altcmpted

a%vﬁi;;m—m mﬁmﬁﬁmﬁaﬁmmm(suver@amﬂmm
& Fra N,
EE) yie? il "\} % Y5 FEqHT o

, "I
P12] h:';g-—ﬁ | ) £ [ P.T.O.
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Country’s first underw
ater metro li i "
(A) Kolkata etro line was Inaugurated by India’s Prime Minister in which city?
(C) Mumbai (B) Kochi '
(E) Question not attempted ) Delbi
R S T 2y 297 ;
e @ 2
(E) AORaws >
What is th.e theme for ‘National Science Day 2024°?
(A) Ind{genous Technology for Atmanirbhar Bharat
(B) Indtgenous Technologies for Viksit Bharat
(C) Indigenous Technology for Future India
(D) International Technologies for Viksit Bharat
(E) Question not attempted '
s g faw-2024° v fwar/ ofmare?
g mﬁﬁtméﬁﬁr@aﬁﬁaﬁﬁﬁmm@%ﬁﬁwmﬁsﬁtﬁmﬂﬁ‘ﬁr )
(B) forenfire streer 3 for et enfrehy/aeretten (GRefTre FeReisi B e 91D)
(C) et I S fore et enfiEhl/aeH T @%%ﬁwiﬁaﬁsﬁwwh e
D) - ﬁmm%mm@wﬁrﬁiﬁmﬁ%@zﬁm SIS i FreRfEre ST
(E) SATORAsH
e i o e ST 1 T SR &-
Gy B ®) A
oy .
T (E) SR T
e ¥ S T A 82 ;
( A) H§'§ﬂﬁ" B)
ey
S @ T
qua;r{’ mﬁﬁ%ﬂmﬁ%—
_(7()9 e : ' ®) "
(C©) HR , L
f) -dﬂﬂ?t? ls.rfnps L, and Ly are connected in an AC circuit as shown, then - |
wo identical & : ;
a@mm L wl, -Qa:;ga:[]'adi qfaer & i%lﬁlilomtsﬁ%ﬁrﬁ%, a4 -
500 pF L,
100 mH L,
500V, 50 Hz
L, glows brighter than Ly (Lzaa ST 3 Ly R
L2 does not glow (L 0T - eI )
®B) L2 low equally bright @t sree THM

Jamps &
(]C):)) Eotghloivsirighter than Ly (Ly 37 weRTar 2T Ly e
g
EE) Qluestion not attempted / o5y
| 23

[ P'T-O,
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the first educational satellite launched by ISRO in the year ; %

was

e ST ST ISROEW ___ J6 A Srermam ol "

(A) METSAT, 2010 (B) EDSAT, 2006 @
; D 2004 i ;

(C) GSAT, 2010 ) g))’ EDUSAT, Y g{ |

(E)  Question not altemf’atéd | ST T

Select the most incorrect statement about Salar Forest

(A) Dhok Kathira and Dhawad are among the chief trees of Salar forest. '
(B) Teak treeis abundantly found exclusively in Salar forest. ¢
(C) Salar forests are also-found in hilly areas of Rajasthan. xS
(D) These rforests are named Salar forests due to the abundance of Salar trees *
(E)  Question not attempted

|IAR 5 % TR H Ferd ST ch%l-t AR DR

(A) Y HRRT (Dhok Kathlra) 31 9% (Dhawad) ST o 3 W@ 87 81
(B) amﬁmm@ﬁ%waﬁﬁwwﬁwaﬁmw%

() TR S TSI HTaTret &t o off qre sy 8§

(D) TSR it bt SIEIXAT:h SHUT 7 a1 b | 5 1 R T 2

(B) SAgaf@ws £

Which of the following isthe highest peak of Aravah range in Rajasthan?

(A) Dilwara (B) Rishikesh
(C)  Set

i (D)  Gurushikhar :
(E)  Question not attemgted wz
Wﬁﬁ%mﬁ@mwmmﬁmﬁwm% P,
(A focmamer M (B) RftrRw 9}
© - @7 el
(B) omahwws b i N

Select the figure from amongst the answer fi
given problem figures,

mmﬁﬁﬁﬁmmﬁr{mwﬁsﬁﬁnﬁwﬂmmmwmﬁ“ i
Problem figures / ooy 3413?&1‘!11

gures which will continue the same‘séries as established by the

Ts
£
(©) * (7}
° s ";?3

(E) Question not attemptt}d | STt war

<
\o| [+
b
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115 Mathematical symbols are respresented by alphabets as shown below: ..
W%ﬁﬁmmﬁmmw%éﬁﬁﬁ@mw% , 4 R—GT (=
+ | =] x =1>1<
B |G E C*’DAF | (@;-39(@%@#
7 ' ((8 >[

Now identify the correct expression from the given options:
1 few g T3 3 T 1T o S

pif, — | 2~
%18{: 3G 6 8£4D12 RE= 3___4_#8«#9,/

ot (B) 18F3§6'§§G4’E127( b= _ (). sitha- L
() 18C3D6BEC4G 12 A 18 = 3 £ 7#8 ==
(D) 18A3E 6B 8G4B 12 ,G __{_ 2— — (
(E)  Question not attempted / ST T 69
116 A circular park whose circumference is 2340 m has 10m wge path :um1ng around it (outside the park). What
is the area (in m2) of the path? (Use n = —) ’s
- @ﬁmqﬁ:ﬁmﬁqﬂﬁ: 48401&%314%?&@?@1‘%%31‘60 101ﬁ %ﬁam%lmwmm"r’ﬁ)
T (= AT SO QI = B be yuY
' i3 103 2
48400 o il X
(A) —_7 m* "b/- i3 @l‘_ﬁ /(&({8
52800 5 s, [l 0 4o 9_3("1.27(2/ \/ &9 &
S S (104 Ty =
I 2 T gon T x(t0qo®
7 m i . / ‘N‘; —l()‘ﬂ//, ﬁ/
©) 50600 n? (i) - </ ,.9

(E) Questlon notiattempted / SITANT TH

La }
117 Following four numeral pairs are glven Out of these, three are alike in &° “certain way but one is diff t
erent.
Choose the one whlch is different from the rest three. o
. R
ﬁqﬁiﬁbﬂaﬂmaﬁ%ﬁqm%mﬁmmw%mé%@ﬁnél SHEBT ST LS 277 i
AR R) @t /9 o
(& ¥y
(A) 34,204 . | (B) 26,182 3 -
(C) 42,252 : qa)/24144 ) Cptpe-S
1 — : / y
(E) Question not attempted / AT wer < i

118 Find out the mcogcct term in the given sequence
ﬁémmmﬂﬁmmﬁwﬁ
!
987 906, 842, 7é2 757,732, 716

!ﬁa/ 792 ¥ 4 ) 757
(C) 906 ii Oy 842 i
(E) Question nzotvattempted / maﬂﬁa' sy
‘ &
. qo £ _UZ 25 @,
g4+ Y- 79 ot 2
9 Yo % 5]
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119  Which conclusion/conclusions would follow on the basis of given statements:
Some Flats are Apartments.

Statements:

No Apartment is a Hall.

Some Hall are Rooms.
Conclusions I: Atleast some Rooms are Flats.

II: No Apartment is a Room.

In light of the above statements, choose the most appropriate answer from the Sptiots giveielow

Both conclusions I and IT follow
(C)  Only conclusion I follows
(E)  Question not attempted

ﬁémmm%mwﬁqmﬁw&,aﬁﬁmﬁwﬁmmm%l

(B)
D)

(A)

Neither conclusion I nor II follows
Only conclusion II follows

HUA: FS R AT B ' s =
et e - % A
FO BT FE

Fomd LamdamgmaRwied f

mm;iﬁéﬂgﬁtwqﬁ% =<
3 Al 3eltes & FrefRad freedt 4 & :
(A) ST foread 1 3R 11 sreror e & R S S o :

LBy T3 frnd it @

(©)  aet e 1 a1y sy ST LT B
E) sefaws i (D) et s 1t g s &4
120 ﬁw%@aﬁaﬁammwmé_
(a) X |
(©) frmr B85
(E) arqafe wa D) &=
121 5T oo e e i3 8
©:
© = (B) 313
(E) sraf@wy ®) &=
122 5 ¥ T I e &
a ks 151 = g | ){
c. ma TR
3 e. ITE d. eI
o e vt & & iy
(A) Faeb, c3irg SUIH S HT = HIR:
(©) Faca, bair, MBY FacTa,c M
(E)  rafea wg (D) FaAb,d3iNe
123  Find miss; . . |
ﬁ:;f ;‘;%ng %l:rm;?;;;]?ven figure.
VOG- ¥
T @Q N .o,
Kﬁ db) ;g . o
@ am L
©) 191 ‘\Usl/ (B) 29]
(E)  Question not attempteq , e AP 261
BL2) g

[ P.T.-
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124 If o and B are the roots of th a? +p?
, e equation 3x? ~13x+14=0, then what is the value of G+BB ?
uﬁaaﬂTB@Hﬁm 3x% —13x+14= Oa?ﬁw%a}“ B2 e
83 * ap £
A) — { .
S f ®) 5
i ‘ 42
© 8 65
(E) Question not attempted / T T 28
125 Karewa formation is “useful for which of the following crop? (Choose the most approprlat?’—'?‘épﬁor‘ from
below:) ; e
(A) Wheat ké‘;'} (B) Tea
(C) Rice i (D) Zafran 4
(E) Question not attempted i}
ﬁmﬁﬁwﬁnﬁﬁiﬁaﬁﬁmm%mmﬁ%ﬁ (ﬁmﬁ%mmﬁwaﬁ)
W ® | -
© W y/ A i
(E) < I EII 9 “”“% a’
126 Who was the Governor General of India when Awadh was annexed by British? *,i
- (A) Lord Velejali ¢y '(B) Lord Canning
(C) Lord Cornwallis} : (D) Lord Dalhousie 4y
(E) Question not ahempted e
%ﬁmmm%ﬁ‘ﬁm mwwmﬁtmaﬁqw P~
(a) TR 4 (B) TS SRR &)
(©) wiEFHaTTE oy < s =

“1
e sake me

(E) Fgaraud i Ly
127 Which one of the followmg Articles of the Constitution of India provides the information about the functions
of Rajasthan Public $&vice Commission?

(a) Aicle320 M} (B) Article 317
f*\

(E) Question not a’t;empted
m%éﬁuﬂmﬁﬁ%@ﬁﬁﬂﬁ?mmmﬁmmm%m%ﬁmﬁ i

(A) IR0 (B) ITTRR317
_(gg/ 313“‘3'6 312 (D) A’TT316
At 74 L
128 Accordmg to which Article of the Constitution of India, the Chief Minister is appointed by tﬁE§G0
verm

a State? Ty ‘ v ‘ or of
(A) Aticle 165 L) (B) Article 166

(C) Article 163 ™ (D) Article 164 g“;

(E) Questlon not gflémptcd ;:“3

s 3 wfaaE & #ﬁ?%mw&ﬁgﬁﬁm%mmﬁmﬁ on
W 3139?97: 165 . (B) 166 5

i. “; J v&? 23}
(© 313'633 163 (D) TR 164 ol
(B) rafa Td 0N

P12 ] ‘ 27

[ P.T.O.
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2 {
h

Gupta (B) Prem Sing(:l Mehra
(A) Madhukar Gup A
(C) Inderjit Khanna ;
E) Questi.on not attempte ey
ITTE 2024 F TR ¥ Usd e Tgw o ,}qﬁﬁ-ﬁgﬂ
\fg)) o "W'v@:" (D) TH. UL

AR _
130 gsy) the 4\:1th Amendment Act which of the following fundamental right has been
fund tal rights? . -
(AI; anl:;}?t tog'iTreedom (B) Right against exploitations
(©) Right to Property (D) Rightto Equality

removed from the list of

T T
(A) =T i1 SRR (B)  iwor & g
ey TvafyE st (D)  wHEaAT FT FRIEHR
(B) Agat@wy
131  On which date RBJ announced withdrawal of ¥ 2000 currency notes from circulation (Choose the most
appropriate option from below:)
(A) May 19,2023 (B) May31,2022
(C)  April 16, 2020 (D)  August 15, 2021
(E)  Question not attempted
§ﬁﬁm .., ¥z 2000 % =t e 35 s o Qe i o < o (et 3 & Ty s fere
<> :)
(A) mE19,2023 ®) ws31,2022
© 1 16, 2020 (D) 1w 15,2021
(BE)  rgafca wy 4
132 Whatis the bercentage of Reservation for women in Panchayati Raj system in the State of Rajasthan? (Choose
the most appropriate optip from below:
WW&WWW&%@%@EWWWWW@ (BT ety vges oo 1)
(A)  40% B)  45%
©) s50% P)/ 339
(E)  Question not a

ttempteq / SREIET)
133 Under which scheme 3 25 Crore account;spiave been opened in Rajasthan up to September 20229
(A) " “Pradhan Mapy; Suraksha Bima Yojana (PMSBY)"”
(B)  “Pradhan Mantrj Mudra Yojana (PMMY)”
(C)  “Pradhap Mantrj jap _ Dhan Yojana (PMIDY)"
(D)  “Pradhap Manty; Jeevan Jyoti Bima Yojana (PMJJBY)”
(E)  Question ey

Forer 9T 35 T i
YO TSI 3 fyereare 2022 7e 3.25 FS TR QY W7
(A) T ey gy

e S e (PMSBY)  (B) “wawwE g1 GET (PMMY)
,(9)( - d"“’*"(PMJDY) (D) et sfam s s G (PMIIBY)
(E) a:riﬂ'ﬂ’dgﬂ

.T.O.
P12] ' 28 o [P
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Where 1 i il o . s .
134 : re 1s Rajiv Gandhi Fintech Digital Institute to be established in Rajasthan? (Choose the most appropriate
option from below:)

(A) Jaisalmer (B) ' Jalore

(C) Jodhpur (D)  Udaipur

(E)  Question not attempted -

e it oo o e e e i s (e G S T )

&) g (D) FAE
(E) AT w9
135 Which of the following Dams in Rajasthan is NOT on river Chambal?
(A) Kota Barrage (B) Ramgarh Dam
(C) Gandhi Sagar Dam (D) Rana Pratap Sagar Dam

(E) Question not attempted
W%W@Ha@ﬁﬂﬁmmmﬁmﬁ@

(A) RIS @y WA
(c) it AR ST, (D) T ST AT
(E) IgaRa ¥

136 et 3 s feftaa T -
(A) T EE gE ' e
() FE IR

3 w1 G
(D) =TeRY ST AT A BT

(B) A I
137 ﬁ-l%maﬁ-llmmﬂaﬁﬁm
B F=i-1 (ST ﬁa’r-nmaia:m)
o  SAMEE TR _ I
b, werdaree L ST
c. g m. S
4 g s V. 3IEd
:ﬁ%ﬁqmﬁmﬁﬁm@msﬂgﬁmaﬂwﬁmz
(A) a-1V,b-TLc-ILd-T %/-I,b-m,c;%d-u
© a-III,b-_Iy,g;_I,d—II : a-1,b-Lc-IV,d-II
) FFAETE '
138 ‘mm’maﬁ%mmgﬁmmmm%‘z
(A) TERG : (B) ATE AT
(©) 2r e a1d el Py eI

E) FIRATA
{49 ‘W,%m@sﬁ%mmmmmm@

iy (B) Memorandum
(A) Reminder

© Circular (D)  Order
st 94
140 ;E;fwﬁqsﬁas a@@@ﬁﬁﬂﬁﬁﬁﬁﬂmwmﬁmaﬁ;
syraaeT feraTEt (B)
;;;“ Far o) T
() FuRaIH

P12] a2 [ P.T.O.
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ine which contrasting character was not selected by Mendel for his hybridization experimep,
141  Outofthe following W -

on garden pea? i
848 of root i

(A) Position of flower" (B)  Shape .
W1 (D)  Colour of seed

(C) Colour of flower ;.

-a."?‘“g
% t
(E)  Question not attcmpled

ﬁmﬁi@ﬁﬁﬁﬁwﬁqﬂﬁwﬁ ma@ﬁ)wﬁ%mmmmﬁwqﬁﬁmww

J
& gEdifefy o o B ST I SR ;wi
© ywEE— (D) ssrarar.
(E) 3rguita u ‘ 1)
142 Which of the following i 1s hot a reason to produce transgenic animals? 1 {3
(A) To obtain bxologlcai products (B)  To study how genes are regulated

(C)  To test toxicity safety : (D) To make somatic hybrlds

(E)  Question not attempted

v
ﬁm%%aﬁ%@qmwm@mﬁm)mﬁmmﬁmmﬁ%? i’;
(A)  Siferes 3= T R fore B) aﬁ#%&ﬁtrﬁﬁ%qaﬁ% THHT ST O 3 fqg
gz mﬁmquﬁwzﬁﬁ%fm (D) wﬁmwmﬁ%mfg»
(B) IaRawy 'i"‘ i
143 Which of the following pyrarmd $ is/ are never inverted? {‘i:‘;
(A)  Pyramid of numbe; (B)  Pyramids of biomass agé number
(C) Pyramid of blomgsi (D) Pyramid of energy {3
(E)  Question not attemgted i
%ﬁ%ﬂ?ﬁﬁﬁ?@ﬁ?ﬁﬁ%ﬁéﬁ%
(A) dEEfihe % (B) Gﬂawmaﬁww%ﬁiﬁg
(©) Sitemmr (aTq‘ﬂ'-TTH); ®) Z-‘n‘urfw fifire é*’?
(E) egafasa v a\
144 2H,0, —Glyeerol H20 +o2 i
In the above chemicy) reactlon glycerolisa: :.:ji
(A)  Autocatalyst (B) Bio catalyst
(C) Positive catalyst (D) Negative Catalyst
(E)  Question not attf;mpted :g
2H,0, i’“ﬂ_;mp +0, ‘ ::;
L T TR o  fererer 3 Oy
W S v %
(C)  HFITeH 3T i Z (D) TCEIEE g

(B) 3raid g™ s g
P12] 30 [ P.T.O-
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45 Which of the following will sink in water?

(A) Empty plastic bottle with closed lid (B) A wooden stick
(C) Kerosene

(D) A ball of stainless steel
(E)  Question not attempted

Pt i & e e g o
(A) RFFTH RO (@) e
©) = . M O AT
(E) Iraia :
146 The non-metal which is used for making electrodes and is also a go:d conductor of electricity is :
(A)  Graphite (B) . Nitrogen
(C) Sulphur (D) Iron
(E)  Question not attempted ;
mﬁﬁmmmmm%mmmw% RS ﬁgqaﬁrgamtﬁ% ?
(A T (B) TS
(C) TR (D) T
(E) AJANa 9 ==
147 Choose the most appropriate option to fill in the blanks:
The accident victim - by the time they him to the hospital.
(A) was dying , rushed | (B) will be dead, have rushed
427 was dead, rushed 4 (D) had died, had rushed

(E) Question not attempted
148 Choose the passive form of the sentence given. :
A thief stole my dog and brought back only when I offe}red ¥ 5000 reward for him. -
Choose the most appropriate option from below: '
(A) Only whenl offered a reward of T 5000 my dog which was stolen brought back.
(B) A thief brought back my dog which he stole when I offered a reward of T 5000.
(¥~ My dog was stolen and brought back only when a ¥ 5000 reward was offered.
(D) Ioffered a¥ 5000 reward for the thief only then my dog was brought back.
(E) Question not attempted
149 Choose the ntost appropriate option to fill in the blanks.
Mr. Mehra called while you were out. He wants to make

_— complaint about
article in the paper. He was in very bad temper.

/(,A’} A, a, the,a (B) A, x,an,the
(C) A,a,an,a - (D) X, an,an, an

(B) Question not attempted
150 Choose the most appropriate option to fill in the blanks -

I can’t do this job alone. 1 need ____to help me; in fact will do, as 1 just need

assist me. —"
(A) somebody, anyone, someone 9/ anybody, nobody, a“)’one‘

(©) nobody, noone, anyone “(D) anything, nobody, anybody

(E) Question not attempted

P12]. ‘ : 31

[ P.T.O.




